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SECOND MID TERM TEST -2024
.Standard Xl - Reg.N0-|:|:Djjj

. MATHEMATICS
Time : 1.30 hrs ‘ Part - | Marks - 50
I. Choose the Correct answer: 10x1=10
1. What tb'th s if 2x £ 2|3 8
. at must be the matrix X, if 3 4|7|7 2| ' N

1 3 1 -3 - 2 6 . [Ag-—"6
2 -1 b 2 1] L9 |4 -2 d s 2
2. .If Ais a square matrix, then which of the following is not éyfnmetric?

a) A+AT ' p) AAT ~¢) AA ' MAT

abc |ka kb ke
3. IfA=X Y Z then X ky Kz
: p q.rf kp kq Kkr

a) A © . b) kA - c) 3k Ak

4. IfAand B are symme_tric matrices of arder n where (A= B), then

@) A+Bis skew symmetric vb)/Al B'is .symmetric
c) A+Bis é diagonal matrix . ’d) A + B is a zero matrix

5. A vector makes equal angle with the posmve direction of the coordinate axes. Then

each angle is equal to : | |
(1) g ,2) f A 1) 4 —1( 2
cos | — COS | = : cos | — COos | ——
6. If ABCD is a parallelogram, then AB + AD + CB +CD isequalto |

a) g(_B+AD) b) 4AC . ¢) 4BD JGJ/G\

7. Thevalue of AB+BC +DA +CD is

9 a5 § b CA . L PIG 9-A5

»
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If[a i h=60. |4 -bl=40 and |b|= 486, then [&] is
a) A2 hy 12 _ /p)y?
Ll #ln x e
Ko '
a) ‘/h) 0 “ c) ;

Lim 3& "R
oy o X

n) 2 | -{)) ] /6\_2

Part - Il
Answer any 4 questions. (Q.No.16 Is compulsory)

e
1A 0 1 , then compute A4
sec’0 tan*0 1|
2 20 4=
9.4 Rrove that tan® () sec®*0 -1=0

36 2

. Find a direction ratio and direction cosines of 3j _ 4k .

3|

x° -1
Compute : M 2

P X=»1 X — 1
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. Find the angle between the vectors 5i + 3]+ 4k and 6 - 8] -k

; . T % 3
Determine the values of a and b so that tr}e matrix [__ 5 .a] is singular, ;

Part - I

Answer any 4 questions. (Q.No.22 is ébm_pulsory)

Xl Maths
d) 32
d) —o
d) 0
4x2=8
ax3=12

cosx -sinx 0

Show that f(x) f(y) = f(x +y), where "7~ 0 0

4

3
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f(x)=| sinx cosx 0
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. Ifa, b, c and x are positive real numbers, then show that

- ,.J““\..‘._. i

~zero. ) |
. If D and E are ,th'e midpoints of the sides AB and AC of a triangle ABC. Prove that
§§+5—5=—§-§6 :

5 F |é+’6| =|a-b|, prove that 3 and p, are perpendicular.

%" —g"

: Proyethat il o =na"’
log, 64 ’l_og,',3. log, 3 logaij
. Find the value of the product log;8 10049 ~|0934 log,
. Answer all the qpestions. 4x5=20
‘ . ”1 1'b :l[ ’—abc(1+§—1-+1+-1-\J 5
. a) Provethat : 41' 1+C— }2a b c
(oR)_’E

"b) Provethatthe points whose position Vedtor'zi + 4] +3k, 41+ j+9k and 10i — j+ 6k
form a right angled triangle. f ’

If ABCD is a quadrilateraland E and F aire the midpoints 0fAC and BD respectively,

then prove that Ké +AD+CB+CD=4EF
N (OR)

1121 : | ‘
_ Ix vy . z|= (x-y)(y- Z)(Z ~x) by using Factor Theorem.
b) Show that 2 y2 ‘ /2 ‘ '
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4 Xl Maths

Z9: a) Let a b c be unit '/
) 1) e , e
CtOl'S SUCh that ab - '.I.é =0 and th[ nale between b and C

s — 5. 2
1S 3 Prove that a =1 —. (bxé)

NE)
'(OR)
2 ' . d ]
2bc;a c* b2 a b cf
b) Show that 02 2ca-b®? 22 |_|b ¢ g
b a? . 2ab-c? [c a b

26. a) Find the relation between a and if 3 f(x) exists where

f(x)={ ax+b if x>3
: 3ax-4b+1if x <3

(OR)
1

: 3
. b) Expres's'the matrix A= ,"6 8
| ~4 6

G W O,

as the sum of a symmetric and skew-

symmetric matrices.
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